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Int 3 Homework (Law of Sines)
Solve each triangle ABC that exists by using the Law of Sines.  Show all work on a separate sheet of paper.  Include sketches of the triangles.
1. 
[image: image1.wmf]30

B

Ð=

o

, 
[image: image2.wmf]45

C

Ð=

o

, 
[image: image3.wmf]9

b

=


2. 
[image: image4.wmf]60

A

Ð=

o

, 
[image: image5.wmf]75

B

Ð=

o

, 
[image: image6.wmf]10

c

=


3. 
[image: image7.wmf]36

B

Ð=

o

, 
[image: image8.wmf]10

a

=

, 
[image: image9.wmf]8

b

=


4. 
[image: image10.wmf]130

B

Ð=

o

, 
[image: image11.wmf]15

b

=

, 
[image: image12.wmf]11

c

=


5. 
[image: image13.wmf]112

C

Ð=

o

, 
[image: image14.wmf]5

c

=

, 
[image: image15.wmf]7

a

=


6. From lighthouses P and Q, 16 km apart, a disabled ship S is sighted.  If 
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, find the distance from S to the nearer lighthouse. (hint: the smallest side is always across from the smallest angle)
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